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CORRELATIONS AMONG SAT, ACT, AFOQT AND GRADE POINT AVERAGE

o

Scholastic Aptitude Test (SAT), the ACT test of the American College Testing

A study was conducted to detemmine the degree of association between the

Program, the Air Force Officer Qualification Test (AFOQT), and grade point
averauge (GPA) for AFROTC cadets entering the Professional Officer Corps during

FY 85. —
A\

\ METHOD

\

hY
Subjects. A total of 3575 cadexs reported in the Cadet Personnel System

(CPS) were selected for study. . Cadets met the following criteria:

l. Reason for loss (DIN 9C4) code blank, indicating cadet remained active,

2. Student status (DIN 146) either contract/mon-contract (Code B), or
conditional 1 term contract {Code N), or conditional 2 terms contract (Code P)
or conditional 3 terms contract (Code Q),

3. Date entered Professional Officer Zorps (POC) (DIN 334) between 1 Nov 84
and 31 Oct 85, inclusive,

4, Date enlisted (DIN 166) not blank, indicating cadet began program.

5. AFOQT Verbal score (DIN 279) between 15 and 99, inclusive, This removed
misleadingly low verbal scorec arising from retest inputs,

6. AFOQT Quantitative score (DIN 282) between 10 and 99. This removed
misleadingly low quantative scores arising from retest inputs,

7. Last AFGQT Form (DIN 288) "0," indicating Form O.

1 These criteriq.konformed to those used by AFRGTC to determine the viability of

detachments.. A Selective Inquiry System (SIS) routine, shown at Appendix A, was

\

used to extrak{ the target data from the CPS,

r

A}
- Variables. The 11 variables selected for study are described in AFROTCR

5
45-13, AFROTC Seleccion, Enrollment, and Reporting System (Senior Units Only). -~

74{—.:}
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These include the following,

L.

2'

« SAT Verbal score.

. SAT Math score,

SAT Composite,

ACT Composite score.

Accession For

TNTIS GRAXI
DTIC TAR
SAT Composite equivalent from the AFOQT. Unannounced 0 i
Justificeation
AFOQT Academic Aptitude (AA) score. —
i
AFOQT pilot score. By

8. AFOQT navigator (NAV) score,
9. AFOQT verbal score, Dist
10, AFOQT quantitative (Quant) score.

11. Grade point average (GPA),

Distribution/ |
AvailabilityACodgg_
" Javail and/or
Speclal

A

Prncudure?L'The data file from the SIS run was converted from BCD to ASCII

using a facility of the Honeywell 6000 computer at Maxwell/Gunter AFB, The

ASCII file

of 3578 cadets was then checked for accuracy. Three cases were

deleted for incompatability with known limits leaving the 3575 cadet sample.

AFROTC/XPX FORTRAN routine CORLATE2 was then used to correlate eaczh variable

with every

listing of

Due to

requires a

other variable and produce a number of descriptive statistics., A
/

s

- [
s E ~

CORLATE2 is shown in Appendix B,
RESULTS/DISCUSSION
the facts that there are some missing data and not every CPS variable

value to be entered, Ns for cells are not necessarily equal. While

this reduces the opportunity for direct comparisons among parings, it has the

advantage of maximizing use of all available data.

evaluating

To assist the reader in

the correlations, Tables 1 through 10 contain extensive descriptive
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statistics, with more descriptive statistics contained in Appendix C.

There 1s some confidence from reviewing Tables 1 through 10 that even though
cell Ns are unequal, they remain representative samples from a common
population. Means for dependent variables (Ys) vary little as a function of
independent variables (Xs). For example, in Table 1, the means of the dependent
variable "SAT Verbal" vary by less than two percent,

On test dimensions the cadets sampled tended to score above average. SAT
verbal was around 525, SAT math around 600, AFOQT verbal and math above 60, and
50 on., Givean the ambiguity of GPA, it is difficult to make external
comparisous. In a general way, however, a mean GPA of 2.8 to 2.9 may be
consigered average or slightly above. There is evidence then that the FY 85 POC
pool is at least representative of the college population and perhaps a bit
above,

Matrix of correlation coefficlents is shown in Tahle 11, The extremely
nigh correlations between SAT equivalent and SAT composite and ACT is reasonable
since the firsr is simply a linear transformation of the latter two.
Correlations on GPA are the lowest, as might be expected, On the dimensions
selected, GPA ts quite independent, Correlations otherwise tend to cluster in
logical categories ~- verbal, math, pilot/nav, and composite scores, AFOQT
pllot and nav tended to correlate higher with math than with verbal variables.

SUMMARY

s

This Teport presents descriptive statistics and correlation coefficients
from 11 academic ability variables as they are retlected in the 1985 POC cadet
pool. These data are of use as base line data on the cadet populaticn, and as

comparative data for use in validity research,
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Aprendix A

Listing of the SIS Routine



DOFTNRVGRCREG) N
OUZ0 S TRENT FHOSD DK A0 a1y AT SR

ShEPRGORAM T RLHS » OMA
FEPREFL S HE R Ry FRATHR I 7R &
DUZES S PREFILERT SRR FRAGTT/RG!
GURBSIPRAFL SRS R AR FRACDA /] K
OUSO$ s FREFILLERR Ry R FRACDINAREQIF &F0RUG0
DO404% LEMITS 220Ky » 20K

O0S0% PRMFIL. TRy RAFEACDADAROTC/TNHZOUK AU

(RINPARED PRMFL L1 RR FRATRIN/AROTEAZNHR2OUK &Y

O07 0 FILE W& - BL

DRINISTARN FILE TH, VL

OOBNd Pl FayRANy S FRRTCO/000KB

OUs 0 HGYEOUT  PAsRL

01004 FilllE 1y £ 5R

Ol 10% FLILE HEy » OR

20s FALE LGy, 0R

D304% DT ot

Tl A0 o= T AHD 108 = TRTOQR TR OR TR O e gl
L1 208 = Tuaittaa T T RO D OT 1 5 B MRV
Lyl I T B R 4 ST R I S T R e
DTl ”

&SI

A I (I T B

ROWEL 05 R I O R N R S I X I IR 2 P B B § I P
S0KT

STAE

RODU I IV R 4 B I I I o B B B N R o

vt b

AINININTS T

Ry

16
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Appendix B

Listing of the FORTRAN Routine "CORLATE2"
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18 !

100 PRGGRA Te RETERHINE  THE CORRELATION BETWEEH THO o i,
<0C
30 DIENSTON X000, ¥ (50000
<) CHARACTER  HAMES#24 » TNM3, TNI#3, 10%72
sa PRINT 4 '
&0 1 FORKHATC /47" WELCOME TO THE CORRELATION aPPLICATION.,
0% “ PROGRAM APRIL 82 CAPT YERRANQOVA®,//)
60 10 PRINT 2
PO 2 FORMATC"ITNPUT THE HAME OF YOUR FILE-~"+/," 24 CHARACTERS” .,
T60& T OoAX--- UNDER S USER MASTER CaTal.oG FKRTGOT™,
110& Za"PUT 6 (2 (REMI-COLONY AFTER FILE NAME: “s/0)
120 READ 4. NAMER
13 4 FORMATY (A4
140 PRIHT aé-HnmikE
180 @6 FORMNTCA /7, "THIE K& YOUR CAT FILE STRINGY 22Xy fidws
140 Call. ATTAUHME, NAME2,- 1.0, TSTAT »)
170 TECIETAT JEa. D WOR. IETAT HME. 1 <0R. LSTAT Willl. @ (OR. 18IaT
180G CMEL 3 WOR. ESTAT JNE. S) GO Y0 4
190 PRINT S
U0 G FOREATCTTREY AGATH G PRELS aBOET . )
210 PROLNT 48
S0 A TORMATOTIN YO WISH To pYP&SS Lbabn CHECK INEPE b ”
200 RITGLD 9, LM
240 LFOLI CHEL ZHYESY GO TO 0
200 i PRINT 2
1 260 -2 FORMAT O BREAT-- SUCCESSFUL cory 1Y)
270 PRIOWNT <3 :
280 13 FORMAIT G/, " T0Tal SUBFOFULATLION HUST BE LEHS VHail LOWa”, /7 3
2¢0 22 REWIND 8
300 PRLHT 4
310 14 FORMATC/, 7 IHPUT FORKST GPECIFICATIONG -~ "+ /7y
320K T RXANFLE-(F&L 0y 2X) = (FH.1, 2000 —=ETC" » /)
230 READ Léd, 1
1 240 UN6T FORKARTCAF2)
350 WRITIECL,GER2Y X
260 Hé&2 FORMAT NG AFR
3790 N = 1
3en 777 READ (B X, END=Y3) A.B
3|l IF A (EG. ) GO TG FPT7
362 F (B .EQ@. 0) 6O 7O 77
362 X(N)=A
T 384 Y(il)=B
390 No=N + 1
400 GO YO 777

? LY *

-




e

TR

411)
420
430
440
400
460
470
4810
4%0
S00
590
S0

[
~T

%40
%0
Hé6U
70
530
370
400
&10
4620
&30
&40
&L

&0
&70
G20
630
700
710
720
730
740
750
7460

rar4
780
740
800
810
820
&0
840

73 REWIND 8
N s N
S X 1)
MM =
Mid = 1
XH o= .01
FOBEST-CIR
GUMXS = (1) %%
DO &0 JJ = 2,N
TFOXCID)Y LBV XH)Y XH = XGLD
IFAXCAS) WhTe XU XL o= X(JD)
FFAXGID) LEQ. XCGJI-1)) GO TO 48
M=
GO TO HY
58 T I T T
TR ORI L GT. MN)Y GO T 59
M = FiN
XHO = XD
59 GUH = UM + XD
XSG = X(JJ) %%
GUMKE = SUNXE + X8a
G0 COHT LNUE
XM = SUH 2 (N 1)
UM = U wx 2
DEV = (SUMXS -~ (GUMEX 7/ 1)) 7/ G o= i)
XME = G+ XH) /R
STREV = HeRT(EY)
DIG = STHDEV # XHEAN :
SKE = 3 % (NHEAM -~ XHE) /7 §7DLEV
G1E = $IDEY 7 SART GO
COMt = MHEAH + 1.96 % STE
COHE = MHEAH —~ 1.%6 % STE
SUMY = Y (1)
MY ==
MY =
Y= .04
VI o= G99y,
SURYS = V1) «x2
XY = X1 ® YCD
PO 160 JJ = 2N
IFCY )Y LGT. YHY YH = Y (D)
TFCY4U) LLTe YUY YL = Y(JJ)
TEOY G LEG. V(JJ=1)) BG TO 4458
MNY = 1

.
1=



———y " "

i g e e ‘.-~7 e

6O
a8

8U0
8560
870
oeo
a¢
#00
210
920
P30
4
50
280
¢70
¢80
%0
1000
1010
11210
1080
1040
1080
1060
1070
1180
1090
1100
1110
11210
T1E0
1140
1150
T160&
1T170&  “
T180&
1190
1200 3q1

TG 169
FIRY = MNY +
TEGHY 1. MRY)D
Y = MNY
YinQ = Y (L))
Y SUMY = SUNY + YLD
Y5Q = Y(JJ) #x2
SUMYS = SUMYS + Y&Q
XY = X (L) % YOI
XY SXY + XY
160 CONTINUE
VHEN = SUMY / (N %
SUNSY = HGUMYxx 2
DEVY = ({SUnRYS -~
Yhil o= (YL o+ YHY /
STDEY = SQRTDEVY)
BISY = STDEY 7 YHEAN
GRIEY = 3 % OViEEad -~ YHE)
STEY = STDEY /7 SQRT(HD
Copty YHEAR + 1.9 =
CoNay Vil il 1.56 %
PXY = SUMN x* GUNMY
Bos il ow GXY - PRY
DA o= No# SUNMXES - SUMSX
B = QR )
N2 = N # HUNYS -
PR = BERTDE)
R = i o DR
COoRrl, = ki
PRAHT
OO0 FURMAT /74y "YOUR
Y Hag A FEAN OF
OF “.F15.383,7 aND
" THE DPDath RaiGE
PRUNT
FORMATC(/Z/y " %% QOTHER

GO TO

Tad
CHUMSY
P4

GUMGY

N
AN %

X

s

123048
12408
1250
1260
12704
1280&

“BTAHNDARD ERROR(HEAN)
Fe.2, *  THRU
PRINT
200 FORMAYTC(/ 7/, "YOUR Y
HaS A fEAN OF ~,F¢
OF " F13.3,"7

=)
"y F?.2)

Y

FO0 e iy XREAN - DEV ST

STARDARD RPEVIATION
l.f'
1A XUME  XFOy bitl o DVE  SKE , STE « TONZ » CONA
IMPORTANT STATS
PN DU
=) *

FAeYA

12104 T OMERXANCHID PTY =) %,
12208 "DISFERSION =) ",F2.2,"

200, Ny YHEAN, DEVY . &
POPULATION OF

AND STARDAKD DEVIATION

TH¢

SNYY /(N - )

/O STREY

STEY
STEY

DEV XL+ XH

PO ATION OF 7,1

P
'« F c,) ¥l

fa Vak TadCE

RO#H

= . ~
TaFRLEy

Fe.2," MODE
SKEWHESS
TrFR LS T ER

TDEY YL VH

i VAR TANCE

o
"l
OF

[
Wy

ELEMERTS ™,

v
OF
T

.Gy
O "SS2S )

WHR" /S,

FREG-", 1G5,/
7}79-;'.’.)'///'7
CONFIRENCE INTERWAL, =3

ELENENTS™,

" FY. S,

20



12904 Zy"THE DATA RGNGE IS JROM “,F%.2,% 1o .« ,
1300 PREMYT G900 YHE YHO, MEY DTSy SKEY, STEY - COMDY o |

1310 511 FORWAT(//, “%% OTHER THPORTANT STOTS woux”,, |
13206 7 NEDIANCHID PTY =) "vF9u2,"  MODE =57, b%. 0.  ypro. o) (L.,
13308 CDISPERSION =) “,F9.2,"  SKEUNESS =) “,re 2,/

13408 “STOHDARD ERRORCHEAN) = “oFP.2,/, " %% S50 GOHFTDENGE

MO,
12808 FE.2y " THRU 7, FR.2 vl ’

1360 PRINT 207, CORL
1370 207 FORMAT (/7,7 CORRELATION BETWEEN  THE TUO FACTORS X3y 187,
1380& PN LI

1320 PRINT -i10 :

i=u0 10 FORMAT DO YOU WAaNT ANOTHER RUNH OF THE PROGRAM YRS OR NO“./)
1410 READ ¥9,. ITMNN

1420 9 FORMAT(AS)

1430 195 FORMAT(" ARE YOU USING THE SaME FILE 7 - YES-HO” » /)
1440 P CIMN JNE. BHYES) GO TO 14w
1450 PRIAUT 159
1460 RLEAD 99, THA
1470 IFCIHT L EQ. 2HYES)Y GO TO 22
1480 GO OTO 0
1490 419 PRENT 120
1500 120 EORMATCY  SEE YOU LATER ALLIGNTOR™)
1540 STOp
1520 EMD
»*
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Appendix C

Descriptive Statistics
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FOTRl QURPOPULATYON WUST B LESY Fod LU

SAT VERBAL VS. SAT MATH

TOUR X POrUL e Tere QF 0 49048 FLEMEETS Hab o A o
or AUGE 22T AND STARDARD DEVIATION OF B4 .3
THE DaTh RadGE 185 FROM 220,00 10 A80..00

U dUUL 0 Vel ndGE

wa OTHIER THPORTANT STATS exx
AEDLaR IR ¥ Ty =) 000, He MHODFE =) &l FRLw- <
DISHFERSION =2 Uwidh BEEUNESS =) 1.0

STARDARD ERROR CREARDY =0 Tuva

@ U CORPTRIENGE THTERVAL = G020 THRY RNt

TOUR Y PPOFULATTON OF 1908 FLEMERTS HAas o rkad oF WERLCPED s M T e UE
QF BEZOLEGG GND STaNDARD LRV Tartui! oF Ga.inad
THE DS RASRGE 1O G0N 1o LU 00

@i QUL PP GRTAHT GTaTh weee
MEDRLAROHLD PT)Y =) s i d N HODE =) DAL 00 FREQ 3
DISFERSBIGN =3 O 1é BREWHFES = G0

STARMD FREQR Caliap) =3 2014
e QU CONFIDRENCE TNTERVAL =3 He0LTH THRU DYWL A8

CORBVIATION BETWELI  THF TWO FaAUTGRS XY IS Q.G5266
DO VOU WO AT AReTHER RUN o THE PROGkAM YES OF 0O



24
TOTAL BUBPOFULATION MUST BE LESYH THaN L0000

SAT VERBAL VS. SAT COMPOSITE

YOUR X POPULATION OF 4907 ELEMENTS HAS A MEAN OF BRILET g UARTANCE
oF FO71.0571 aND STANDARD DEVIATION OF 84,093
THE DATA RANGE 18 FROM 220.00  TO 780.00

®% OTHER THPORTANT STATH wow
MEDTANCHID PT)Y =) HOD.LOD NODE =) 610,00 FRECG- i
DISPERBIGN =) 0,16  SKEWNESS =) 0. 86

B[TANDARD ERROR CHFaN) = T.938
o QUL COMFADENGE THTERVAL =3 vale ey THRY GRE LT

YOUR YV FOFULATION OF  -i907  ELEMNERTE HaS o MEAN OF 41494128 o ValkTANCE
oF 4257 ..0838 ARD STARDARD DEVIATION OF 1858648
r THE DATH RARGE (8 FRONX 6,000 10 140,00

*% QOTHER THPORTANT ETATS wux
MERIAHCHTD PTVY =) Fas.00 MODBE =) ARFO.0D  FREG- 3
DISPERSLON = D.ia BEEWHESS =) 3410

STAMDARD ERROR CHEAN) => 3,57
#% 9HA COMFTDENCE INTERVAL =) 1112018 THRU 112612

CORRELATION BETWEEN THE TWO FAUTORS XpY 1S 0.8579
DO YOU WANT AMOTHER RUN OF THE PROGGRAM YES OR NO

{ -

-

Copy dvailable to DTIC does not
permit tully legible reproduction




CTOTAL SURFOPULATION MUST BE LESS 1HaN 5000 25

.

SAT VERBAL VS, ACT

YOUR X POPULATION OF 236 ELEMENTS HAL d MEAN QF
oF 042,985 AND STANDARD DEVIATION OF BY. 123
FHE RDATA RANBE 18 FROWM 280,00 10 740.00

937w 619 H UpRleddLE

®# OTHER INMPORTAMT STATH wN¥x
MEDTANCHID P12 =) H590.00 HODE =2 510,00 FREQ- 3
DISPERSION =2 Quid SFEUNESS =2 0.73
STGNDARD ERROR (HEANY =2 i B0
e PEL CONFTIDENCE TNTERVAL =2 nau.es  THRU BA0., W9

'
COUR ¢ FePULATIoR oF  2de BELEHENTS Hag o NMEAN OF 27,858 0 VakTolGE
ol GoRRE Wit STARDARD DEVIATION OF 2,136
TUE Bt ol i Flun L. 00 0 A, 00
e UTHER CaFORTART SCATS wabe
HEDTAR G B = 20,050 HODE =) 29,00 URE&- 3
DISFERGLON = Q.12 SKEUHESS =) 4,60
STnMbmkD EREOR GAEARD) =) 0. 20
as ON% Gt IDERCE THTERVAL =3 HeBe  THRY 27 HG
CORRELGTION BETWEEN THE TWO FAGTORS X3Y 1§ UL7448
DO vOU WART AHOTHER RUN OF 1HE PRUGRAN YES OR NO
} ‘

Copy availa
permit fully

blo to DTIC does not
legible reproduction

. asa
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TOTAL SUBPOPULATION MUST BE LESS THAN H000

SAT VERBAL VS, SAT EQUIVALENT

YOUR X  POPULATION OF 1908 ELE“ENTS HAS A MEAN OF Y24.00% A VARIANCE

OF 706E8.229 4ND STANDARD DEVIATION OF 84.073
THE DATA RANGE 16 FRO#M 220.00 T0O 7680.00

#% OTHER ITHMPORTANT BTATS *xx

MEDLANCHID PTY =) 200. 060 MORE =) ¢10.00 FREQ- 4
DISFERBION =) 0.16 SKEWNESS =) .86
STANDARD ERROR (MEAN) =) 1.92

#x QU4 CONFIDENCE INTERVAL =) $520.283  THRU H27.78

YOUR ¥  POPULATION OF 1908 ELEMENTS HAS & MEAN OF 1127.4696 & VARINNCE
oF 24222.687 AND STANDARD DEVIATION OF 103.669 : :
THE DATA RANGE .18 FROM 480.060 7 TO 1540.00

®%# OTHER TMPORTANT SYATE wxe

HEDIANCMID PT) =) 1110.00 MODE =) 1290.00 FREG- 3
DISFERSION = 0.14 SHKEWNESS =) 0.34
STANDARD ERROR (MEAN) = i T

®t QUX CONFIDENCE INTERVAL = 1120.71  THRU 1134.68

CORRELATION BETWEEN THE TWO FACTORS X:Y I8 0.8373
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO
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TOTAL SUBPOPULATION MUST BE LLESS THAN H00Q

SAT VERBAL VS, AFOQT ACADEMIC ABILITY

7

YOUR X POPULATION OF 4908 ELEMENTS HAS A MEAN OF  524.00% A VARIANCE
) oF 7068.221 AND STANDARD DEVIATION OF  84.073

THE DATA RANGE 18 FROM  220.00 71O 780.00

*% OTHER IMPORTANT STATG sx

MEDIANCMID PT) = 500.00  MODE =)  410.00 FREQ~ 4

DISFERSION = 0.16  SKEWNESS =) _  0.86

YOUR Y POPULATION OF 4906 ELEMENTS HAS A MEAN OF  64.254 A VARTANCE

OF 474,184 OND STAHDARD DEVIATION OF  21.77%

THE DATA RANGE 1S FROM 10,00 TO 9.00
‘ %% OTHER IMPORTANT STATS s . .

MEDLANCHID PT) =) 54.50  MODE =)  9%5.00 FRE@~ 8

DISPERSION => 0.34  SKEWNESS =) 1.34

STANDARD ERROR (MEAN) =) 0.5

®% 954 CONFIDENCE INTERVGL =) 63.28 THRU 5.23

CORRELATION BETWEEN THE TWO FALTORS X:Y IS 0.71%7 -
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO 777




e
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_ TOTAL HUBRPOPULATION MUST BE LEES THAN 5000

SAT VERBAL VS AFOQT PILOT

28

YOUR X POPULATION OF 1908 ELEMENTS HAS A MEAN OF HD24.0085 A VAR TaGHCE

OF 7068.221 AHD STANDARD DEVIATION OF 84.073
THE DATA RANGE I8 FROM 220.00° TO 784.00 | ;

®¥% OTHER YMPORTANT STATH wwx -
MEDIANCMID PTY =) S00.00 MODE =) 610,00 FRE@- 4

DISPERSION =) . 0416 SKEWKESS =) 0.86

STANDARD ERRORC(HEAN) =) 1.92 :

%% 94% CONFIDENCE INTERVAL =) 520,23  THRUY 527,78

YOUR Y POPULATION OF 4508 ELEHENYS HAS A MEAN OF 59.932 A VARTANCE
OF 455,194 AND STANDARD DEVIATION OF 21.335

THE DATA RAGNGE IS FROM 2.00  TO $9.00

*¥% OTHER IYMPORTANT STATH #xx
MLEDTANCMID PT) =) 50.50 MODE =3 67 .00 FREQ- a

£
DISFERSION = 0.36 SGUEWNESS =) 1.33
STANDARD ERROR(MEAN)Y = 0.49
% PUZ CONFLDFNGE INTERUAL =) G8.98  THRU &0. 89 -

CORRELATION RETWEEN THE TWO FACTCRS X3Y IS 0.2373
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO



TOTAL SUBPOPULATION MUST BE LESS THAN 5000 29

SAT VERBAL VS. AFOQT NAV

YOUR X POPULATION OF 4908 ELEMENTS HAS A MEAN OF 524,008 & VARIANCE

oF 7068.221 AND STANDARD DEVIATION OF 34.073
THE DATA RANGE 18 FROM 220.00. 70 780.00

#% OTHER YMPORTANT STATH wxx

MERIANCHID PTY =) 50000 MOLE => 410,00 FREQ~ 4
DISPERSTION = 0.16 SKEWNESS =) 0.86
STANDARD ERROR (MEAN) =3 1.92
x% 95X CONFIDENCE INTERVAL =) S920.23  THRU UR7.78
YOUR Y. POPULATION OF 1908 ELEMENTS HAS A MEAN OF 62.508 A VARTANCE
OoF 4641019 AND STANDARD DEVEATION OF 21,543
THE DATa RANGE I8 FROM 4.00 TO %% .00

*#% OTHER TMPORTANT STATEH xxx '
MEDIANMID PT) =) S1.50 HODE => 76.00 FREQ- 3

DISFERSION => 0.34 SKEWNESSE = Tu59?
STANDARD ERRORC(HEAN) => .49
®% 90L CONFIDENCE INTERVAL =) &61.94  THRU 63.87

CORRELATION BETWEEN THE TWO FACLTORS X:Y 1§ 0.32%8
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO




——F

TOTAL SUBPOPULATION NUST BI LESS

THond OO0
SAT VERBAL VS, AFOQT VERBAL

e . N N ST N R I RS W U
YOUR X' _POPULATION OF 1908 ELEMENTS HAS A MEAN
oF 706R.229 AND STANDARD DEVIATION OF
THE DATA RANGE 18 FROM 220,00 TO 780.00
%% OTHER IMPORTANT STATS %xx%

MEDLANCHID PT)Y =) 500.00 MODE =) &10.00
DISPERSION =) 0.16 SBKEWNESS =) .86
STANDARD FRROR(HEAN) =) f.92

520.83  THRU

®% UL CONFIDREWNCE INTERVAL =

A MEAN OF

YOUR ¥ POPULATION OF 1908 ELEMENTS HAS
oF $926.668 AHD STANDARD DEVIATION OF

THE DATA RANGE 1§ FROM 1W5.00 0 10

X3t OfHER TMPORTANT STATS xxx :
MEDLANCHID PTY =) 57 .00 MODE =3

DISPERS1ION =) 0.37 SKEWNESE =

STANDARD ERROR(HEANY =)
% YHZ CONFIDENCE INTERVAL =)

0.53
&0.948

COKRELATION BETWEEN

30

N

OF GR24.00% A VARIANCE
84.073

FREQ-- 4

Ne7.78

62.008 A VARIANGE
«T4Y

24 .00
$9.00 FREQ- 3
0.6%8
THRU 63.04
Is 0.77147 T

THE TWO FACTORS X#Y
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO

-

Copy available to DTIC does not
patmit fully 1~gibl= reproduction
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TOTAL SUBPOPULATION MUST BE LESS THAN SBooo

SAT VERBAL VS, AFOQT QUANTATIVE

YOUR X POPULATLION OF %08 ELEMENTS HAS A MEAN OF $924.0085 A VARIANCE
OF 7068.221 AND STANDARD DEVIATION OF 84.073
THE DATA RANGE I8 FROM 220,00 T0 780.00

®% QTHER TMPORTANT STATH sk

MEDTAMGHID PTY =) S00.640 MOBE =) &10.00 FREQ- 4
DISPERSION = . D16 SKEWNESS =) 0.86
STANDARD ERROR(MEAN) =) 1.92
®% 944 CONFIDENCE INTERVAL =) GE0.83  THRU Ha7.78
YOUR ¥  POPULATION OF 1208 ELEMENTS HAS A MEAGN OF 64.69% A VARTHNCE
OF 465,254 AND STANDARD DEVIATION OF 21,571
THE DATA RAMNGE IS5 FROHN 10,00 7T0 %% .00

%3 OTHER IMPORTANT STATS #x#

MEDIAMMID PT)Y =) $4.50 MOQDE =) 80.00 FREQ- 4
DISPERSION =) 0.33 SKEWNESS =) 1. 42
STANDARD ERROR(MEAN) =) 0.49

x% P04 CONFIDERCE INTERVAL =)

. —— it o ——— von e e

63.73 THRU 6. 66

CORRELLATION BETWEEN THE TWO FALTORS X3Y IS 0D.42%0
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO
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32
TOTAL SUBPOPULATION MUST BE LESGSE THAN G000
SAT VERBAL VS GPA
YOUR X POPULATION OF 1904 ELEMENTS HAS A MEAN OF H28.946 6 VARIANCE
OF 7072.238 AND STANDARD DEVIATION OF 84.097
THE DATA RANGE IS FROM 220.00 710 7680.00
®¥% OTHER IMPORTART STATS wxsix
MEDIANCMID PT) =) 500.00 MODE =) 610.00 FREQ- 4
DISPERSION =) D16 SKEUNESS =) 0.89
STANDARD ERROR (MEAN) =)> 1.93
% 904 CONFIDENCE INTERVAL =) 20017 THRU BWa7 .78
YOUR Y  POPULATION OF 1906 ELEMENTS HAS & MEAW OF 2.896 a4 VARTANCE
oF 0.2790 AND STAMNDARD DEVIATION OF Q. 459
THE DATA RANSBE (5 FROM .80 YO 4,00

%% OTHER IMPORTANT STATH wxx

HEDIANCGAID PTY = 2.90 MODE => 3.00 FREQ~ &
DISPERS10N =) 0016 SKEWNESS =) -0.08

STANDARD ERROR(MEAN) = 0.01

x% 90Y CONFIDENCE INTERVAL =) 2.88 THRU 2.92

e e e e e e et s e o -

CORRELATION BETWEEN THE TWO FACTORS X3Y IS  0.1931
DO YOU WAMT AHOTHER RUN OF THE PROGRAN YES OR NO



- YO

——

TOTAL SUBPOPULATION MUST BE LESS THAN S000

SAT MATH VS. SAT COMPOSITE

YOUR X  POPULATION OF %07 ELEMENTS HAS A MEAN
oF BE74.259 AND STANDARD DEVIATION OF 9
THE DATA RANGE 18 FROM f2.00 TO 800.00

xx OTHER IMPORTANT STATS wxxs

MEDIANCHID PT) =) . 446,00 MOLE == Ha0. 00
DISPERSION =» .16 SKEWMESS =) 4.7%
STANDARD ERROR (HEAN) =) 2,14
®% QUX CONFIDENCE INTERVAL = Ge0.91  THRU

YOUR Y PORULATION OF 1907 ELEMENTS HOGE A MEAN
oF 24087.563 AND STANDARD DEVIATION OF 10
THE DATH RANGE (S FROM 374600 TO 1540400

* OTHER YHPORTANT STATH xxx

' DIANCGHID PT) =) 958,00 MODE =) 1290.00
DISPERSION =) 0.14 GKEWNESGS =) 3.0
STANDARD ERROR (HMEAN) => 3.57

%% 90K CONFIDENCE INTERVAL => 1112.13  THRU 1

— - ———— T T o T

OF UPH.137 n VARIANUE
4,203

FrREQ- 3

HPF.364

OF 11994128 A VarLANCE

D.845

FREG~ 3

1612

33

CORRELATION BETWEEN THE TWO FACTORS XrY I8
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO

0.8886
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34

TOTAL SUBFOPULATION MUST BE LESS THAN 5000

SAT MATH VS. ACT

YOUR X POPULATION OF 236 ELEMENTS HAS A MEAN OF 4084271 A UARTANCGE
oF BEO2.403 AND STANDARD DEVIATION OF ?3.8:1
THE DATA RANGE IS FROM F2.00  TO 780.00

#® OTHER IMPORTANT STATS %xx

MEDIANCGATD PT)Y =) 4£36.00) MODE = 700,00 FREQ- e
DISFERBION = 015 SKEWNESS =) RN
STANDARD ERROR (MEAN)Y =) 6.t
*% QUK CONFIDENCE INTERVAL =) WR6.H0 THRU 52024
YOUR Y  POPULATION OF 236 FLEMENTS HAS & MEAN OF A7 258 A4 VARTAKRCE
or ?.83% AND STANDARD DEVIATION OF 3.136
THE DATA RAMGE 1S FROM 15.00 0 T0 32.00

%% OTHER XYHMPORTAHT STATS ®xx

MEDIANCAIND PTY =) £3.050 HOLE => 29.00 FREQ- 3
DISPERSION =) 0.12 SKEWNESS = 3.60
STANDARD ERROR(MEAN) = 0.20

x% 9952 CONFIDENCE INTERVAL =) 26.86  THRU &7 - b6

oW ey T e T -~ - = v -

CORRELATION BETWEEN THE TWO FACTORS X:Y IS8 0.7017
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO
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TOTAL SURPOPULAYION RMUST BE LESS THaN L00O0

LS

SAT MATH VS, SAT EQUIVALENT

YOUR X PORPULATION oF 908 ELEMENTS HAS A MEAN OF 575165 o VARITANCE

OF 8B70.244 AND STANDARD DEVIATION OF F4.182

THE DATH RANGE IS FROM ?2.00 TO 800.00

%% OTHER IMPORTART STATH sxx

MEDIANCHID PT) =) 400 MODE = Ha0.00  FREQ- ]
DISPERSION =) Quid SKEWNESS =) “uf9

STHNDARD ERROR(MEAN) =) 2a16

w% 99% CONFIDENCE INTERUAL =) WENLP3 THRU GPR .38

YOUR ¥  PORULATION OF %908 ELEMENTS HaAS a MEAN OF  1127.86%6 6 VGRIANCE

or 24232.867 AHD STANDARD DEVIATION OF 18G5 .669

THE DATA RAHGE I8 FROMN 60L00 TO 1540 .00
xx OTHER YHFORTANT STATS xwx
MEDIANCHID PT) =)  1i10.00  KODE =) 1290.00 FREQ- 3
D1SPERSION =) 0.14  SKEWNESS =) 0.34
STANDARD FRROR GREAH) =) 3.56
x% 957 CONFIDENCL INTERVAL =)  4920.71 THRU  1id4.6B
CORRELATION BETWEEN THE TWO FACTORS X3Y IS  £.8660 e

DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO

4
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TOT

. T "™ T T

Al SUBRPOPULATION MU

5T BE

LESS THAN S0

SAT MATH VS. AFOQT ACADEMIC ABILITY

00

YOUR X POPULATION OF 1%08 ELEMENTS HAS A NEAN OF 595.ﬂ35.ﬁ
BH70.244 AND STANDARD DEVIATION OF
92.00 TO

OF
THE

DATA RANGE 1S FROM

% QTHER IMPORTANT STAT
HEDRDIANHID PTY =) 4

DIsk

8TaN
xe b

YOUR
oF
THE

S HwH
46.00

MOLE =)

ERGION = 0.16 SKEWNESS =)

DARD ERROR (ME&ANY =)
G4 GONFIDERCE INTER

Y POPULATION OF
474,134 GND
RDATA RANGE 18 FRGM

®% OTHER (HPORTANT STaT

HED
Disp

LANCHID PTY =)
FERELON =) 0.34

STANDARD ERROR (MEAN)Y =>

DO YOU WANT ANOTHER RUN OF THE .PROGRANM

CORRELATION BETWEEN

Val.

ERANS

TR 1)
4. 50

)

v

HB¥0.93

ELEHENTSE HAS

MOBLZ =2

SKEWNESS =

. PH4 CONFIDENCE INTERVAL =

THE

>

0.%0 '
63.28

TWO FACTORS

#00.00

nau. 00
4,75

THRU

P4.182

FREG~ 13

HBE9. 28

6 MEAN OF 64.204 0
HSTANDARE DEVIATION OF
10.00 10

fe.0a

¢%.00

T w3

THRU

XY 1S

MWF7H

FREQ- 3

S

HUWR3

0.6847

YES OR NO .,

36

VAR TARCE

VAR TANCE



____-‘.-7,»v1——v— - - — - - — ~ - v - hed

37
TOTAL SUBPOPULATION MUST BE LESS THAN G000

SAT MATH VS, AFOQT PILOT

YOUR X POPULATION OF 1908 ELEMENTS HAS A MEAN OF HP5.1%0 a4 VARIANCE

oF 8870.244 AND STANDARD DEVIATION OF ?4.182
THE DATA RANGE I8 FROM gR.00 YO 800.00

%% OTHER IMPORTANT STATS %%
MEDYANCHID PT) = 446400 MODE =3 520,00 FREQ- 3

DISPERSION =) 0.96 SKEWNESS = 4.75

STANDARD ~ERROR LB ANE —2d e w v @yl dhommmie o o0 e e e im s e e

¥% 9N CONFIDENCE INTERVAL =) 560,93 THRU 599, 88

YOUR Y POPULATION OF <908 ELEMENTS HAS A MEAN OF 59,932 & VARIANCE
oF 455,194 aND STANDARD DEVINTION OF 21.385

THE DATA RANGE (8 FROMN 2,00 TU $9.00

X

% OTHER INMPORTANT BSTATS %x%

MEDIANCHID PT) =) 50.50 MODE =) 67.00 FREQ- 2
DISPERSION =) 0.36 SKEWNESS =) 1.33

STANDARD ERROR(MEAN) => 0.49

X% 954 CONFIDENCE INTERVAL =) H58.96 THRU 40 .. H?

CORRELATION BETWEEN THE TWO FACTORS X:Y I8 0.4491
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO

=



TOTAL SUBFOPULATION MUST BE LESS THAN 5000
| SAT MATH VS. AFOQT NAVIGATOR ‘
YOUR X POPULATION OF 150D ELEMENTS HAS A MEAN OF  H85.15% & VARIANGE
OF BE70.244 AND STANDARD DEVIATION OF 94,182
THE DATA RANGE 16 FROM 92,00 TO £00.00
§

*% OTHER (MPORTANT STATEH wox

MEDLANGHLID PT) =)  #44.00  HODE =)  G20.00 FRE@- 3
DISPERSION =) 0.16  SKEWNELS =) 475

STANDARD FRROE (HEAN)Y =) 2.4

#% 95% COMFIDENGE INTERVAL =)  G¥0.9H THRU  §99.38

YOUR ¥ POFULATION OF 1908 ELEMENTS HAS A MEAN OF 62,708 A VARIANCL
OoF 464,109 AND STANDARD DEVIATION OF 21,543
THE DATA RANGE IS5 FROM 4.00 TO 99.00

%3t OVHER IMPORTANT 8TATS wxs

MEDIANCHMID PTY =) U1.80 MODE =) 76.00 FREQ- 3
DIGPERSION =) 0.34 SKEWNESS = 1.59

STANDARD ERROR(MEANY =) 0.4%

®#% 994 COWHFIDENCE INTERVAL =2 < 61494 THRU a3.87

CORRFLATION EBETWIEN  THE TWO FACTORS X3Y 18 0.614%
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NV

38



39

TOTAL SURPORULATION MUST RE LESS THAN N000

SAT MATH VS, AFOQT VERBAL

YOUR X  POPULATION OF 1908 ELENENTS HAS A MEAN OF 99,185 A VARTANCE

OF BH70.244 AND STANDARD DEVIATION OF Fh.182

THE DATA RANGE I8 FROM 92.00 TO #00.00

x# OTHER IMPORTANT STATH xxx

MEDIOGNCHID PTY =) a4, 00 MONE = G200 FREG- 3
DISPERGION => 016 GREWUNESE =) 4u735
STANDARD ERROR{HMEANY =) 2016
®a YU COMPIDENCE INTERVAL =) 590,383  THRU G968
YOUR Y POPULATION OF 1908 ELEMENTS HAS A MEAN OF 42,008 A VAR TANCE
oF S26.668 aND STANDARD DEVIATION OF 2. 747
THE DATA RANGE I8 FROM 15.00  TO 2¢.00

%#3% OTHER IMPORTANT STATS wex

MEDIAN(HID PT) =) 57 .00 MODE =) 29.00 FREQ- 3
DISPERSION => 0.37 SKEWNESS =) N.65 b
STANDARD ERROK(MEAN) => 0.53
X# 95% CONFIDENCE INTERVAL => __40.98 THRU __ _63.04

CORRELATION BETWEEN THE TWO FACTORS X7Y 1§ N 4729
DO YOU WANT ANOTHER RUN OF THE PROGRAM -YES OR NO

A .

—~
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TOTAL SUBPOPULATION oUST BE LESS THAN S000

SAT MATH VS. AFOQT QUANTATIVE

YOUR X POPULATION OF 1908 ELEMENTS HAS A MEAN OF GYNLAGG A VARIANCE

oF 87042445 AND STANDARD DEVIATION OF Pa. 18
THE DATA RAMBE IS FROM fR.0  TO #00.00

#3% OTHER IMPORTAMT STATS #xx%

AEDTANCHRID FTY =) 446,00 MODRE =3 H20.00  FREQ- 3
DISPERETON =) O.16 SKLWNESS =) 4,75
STANDARD ERRORK (MEAN) = 2416
®d QU4 GONFIDENCE (HTERUAL =3 De0.E3 THRU G9%., 358
YOUR ¥ POPULATION OF 4908 ELEMENTS HAS & MEAR OF 44,695 A VAGRIARCE
OF 465.294 AND STAMNDARD DEVIATION OF 2120971
THE DATA RONGE 18 FROM 10.600 YO 2e.00
i OTHER THPORTANT STATH *xxx

MEDIANGMID PT) = 5450 MODE => 80.00 FREQ- 4
DISFERSIOMN =) 0.33 SKEWNESE = 1.4
STANDARD ERROR(MEANY =3 0.49?

i QO LONFIDENCE INTERVAL => _  63.73 THRU &Y. 66

CORRELATION BETWEEN THE TWO FACTORS XpY I8 0.7097 -
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO -



v

TOTal SUBFOPULATION MUST BE LESS THAR H000

SAT MATH VS, GPA

YOUR X POPULATION OF %06 ELEMENTSE HAS A HMEAN OF 9N LT86 A VARLANCE

OF 875,010 AND STANDARD DEVIATICN OF ®4.207

THE DaTa RANGE 1% FROM F2.00 TO §00.00

26 OTHER THPORTANT STATSH swn

MEDRDLAHCGEID PT) =) 446 .00 MODE =3 S520.00 FREQ- 3

DISPERGION = D.16  SKEWN[®E =) 4. 78

STAHDARD ERROR (MEAN) =3 2016

#x 2010 GONFIDENCE INTERVAL => G¢0.94  THRY) 9940

YOUR Y POFULATION OF 1904 ELEMENTS HGE A HEAR OF 2.8%986 A4 VARITANCE
OoF 0.270 AND STAHDARD DEVIATION OF . 459

THE DATA RANGE I18$ FROM T.80 TO 4.00

%% OTHER IMPCRTANT STATES =%

MEDTANCHMID PT) = 2.90 MODE =) 3.00 FREQ- 2
DISPERSION => 0.16 SKEWNESS =) -0.02
STANDARD ERROR(MEANY =3 0.0

x QU% CONFIDENCE INTERVAL =)
CORRELATION BETWEEN THE TWO FACTORG XY IS 0.21193
DO YOU WANT AHOTHER RUN OF THE PROGBRAM -YES OR NO

=

2.68 THRU 2,92



TOTAL SUBFOPULATION MUST BE LESS THAN H000

SAT COMPOSITE VS. ACT

YOUR X  POPULATION OF 2386 ELENMENTS HAS A MEAN OF  11392.8%0 A VARLANLCE

or 25086 .B76 AND STANDARD DEVIATION OF N8, 308
THE DATA RANGE I8 FROM 376,00 10 1471.00

%% OTHER IMPORTANT STATYH ek

MEDRLAHCHID PTY =3 FeR.50 MODE =>  HI80.00  FREQ- 3

DISPERSION =) 0,14 SKEWNESE =) 4.0

YOUR Y POPULATION OF 2386 ELEMERTS HASE A MEAGN OF 27.258 a4 VARTANCE
OF 4835 AND STANDARD DEVIATION OF 3.136

THE D&TH REGHGE I8 FROM To.00 0 16 G2.00

#% OTHER IMPORTART STHTS k#

MEDLTANCGHTDR PTY =) 23.50 HODE =) 29.00 FREg~ 3
DISPERSYION =) 0.12  SKEWMESS =) 3.60 v T
STANDARD ERROR(MEAN) = 0.720
2% QUL CONFIDENCE INTERVAL = dhutié THRU A7 .66

CORRELATION BETREEN THE TWO FACTORS XY IS 0.8344
DO YOU WANT ARNOTHER RUN OF THE PROGRAM YES OR NO

-



TOTAL SUBPOPULATION MUST BE LESS THaN G000

SAT COMPOSITE VS, SAT EQUIVALENT

YOUR X POPULATION OF 1907 FELEMENTS HAS A& MEAN OF  1119.128 A VARIANCE

OF 24267 585 AND STANDARD DEVIATION OF 155,845
THE DATA RANGE XS FROM 376.00 70 1540.00

#3#% OTHER IMPORTANT STHTS axx

MEDLTANCHID PTY =) Fh8.00 MODE =3 12%0.00 FREQ- 3
DISPERSTON =» 0,14 SKEMHESS =) 3.10

YOUR Y POPULATION OF 4907 ELEMENTS HAS 4 MEGN OF 1127 .66% A VARIANCE

oF 24244173 AND STANDARD DEVIATION OF 16H5.705
THE PATA RANGE I8 FROM 680.00 TO 1940400

%% QTHER THPORTANT STATS %

MEDIANCHMID PTY =) 10,00 MODE => 1290.00 FREG- 3.
DISPERGION =) Q.14  SKEWNESS =) 0.34
STANDARD ERROR(MEAN) = 307

%% 954 COMFIDENCE INTERVAL =» 1120.68  THRU 1134466

T e e e ——————

CORRELATION BETWEEN THE TWO FACTORS X3Y I8 0.9702
DO YOU WAKRT ANOTHER RUN OF THE PROGRaM YES OR NO

-




TOTAL GUBPOPULATION MUST BE LESS THAN 5000

SAT COMPOSITE VS. AFOQT ACADEMIC ABTLITY

YOUR X PORFULATICN OF 1907 ELEMENTS HAS A MEGN OF 1119.7128 A VARIANCE
OF 24287 588 AND STARDARD DEVIATION OF 155 .849
THE DATA RANGE I8 FROHM az6.00  TO 10540.00

%% OTHER THPORTANT SVOTH w4k

MEDBTANMID, PT) =) FEB.00 MODE =) 12%90.00 FREQ- 3

DISFERGION =) 0,14  SKEWNESS =) 3.0

YOUR Y PORULATION OF 1907 ELEMENTS HAS A NEGN OF 64.202 4 VARITANCE
OF 474.371 ARD STAMDARD DEVIATION OF 29.780

THE DATA RANGE 15 FROM 10.00 10 -9¥9..00 '

## OTHER IMPORTANT STATS xwux

MEDIANCMID PT) =) 54.50  MODE =) $5.00 FREQ~ 3
DISFERSION =) 0.34  BKEWNESS =) 1.34

STANDARD. ERROR (HEAN) =) 0.50

X% 9B CONFIDENCE INTERMG <5 | 63.27  THRU 6%.23

CORRELATION BETWEEN THE TWO FACTORS XzY 1S 0.8014
DO YOU WANT ANOTHER RUM OF THE PROGRAM YEB OR NO



L o

o OR NO

TOTAL SUBFOPULATION MUST BE LESS THAN 5000

SAT COMPOSITE VS. AFOQT PILOT

YOUR X  POPULATION OF 1%07 ELEHENTS HAS a4 MEAN OF
oF 24287 .583 AND STAHDARD DEVIATION OF

1359.845

THE DATA RANGE 18 FROM 376,00 TO 1540.00
*3% OTHER IMPORTANT STATE xxx

MEDIANCHID PT) = 9E8E. 00 MODE =)  1290.00 FRE@-
DISPERSION =) 0.14  BREWNESS =) 3.0

STANDARD ERROR GikEAN) =) e
#% Q0L CONFIDENCE INTERVAL =) T112018 THRU

1T126.712

YOUR Y POPULATION OF 1907 ELEMENTS HAS a MEAN OF
oF 405,420 AND STANDARD DEVIATION OF &1.341

THE DATA RANGE IS FROM 2.00 Y0 $9.00

%% OTHER LHMPORTANT STATS %xx

MEDIANCIHID PT) =) S0.50  HODE =) 67.00 FREG-

DISFERSION =) 0.36 SKEWNESS =) 1.33

STANDARD ERROR (HEAN) = 0. 49

x#% 9NL COMFIDENCE INTERVAL => S8.98  THRU 40 . 89
CORRELATION BETWEEN THE TWO FACTORS X3Y I8  0.3994

DO YOU WANT ANOTHER RUN OF THE PROGRAM YES

45

11i2.128 A VARILANCE

3

HG9.9238 A VARIANCE



it

TOTAL SUBPOPULATION MUST BE LESS THAN 5000

SAT COMPOSITE VS. AFOQT NAVIGATOR

YOUR X POPULATION OF 1907 FELEMENTS HAS A MEAN OF
0.B4S

or 24287 .583 AND STANDARD DEVIATION OF

THE DATH RANGE I8 FROW 376.00 Y0

*% OTHER IMPORTANT STATE soex

MERDTANCGALID PTY =D ¢ub.00 MODE =3
DISPERSLON =) .14 SKEWNESS =)
STANDARD ERROR (MEANY =) 3,57

%% QUL CONFIDENCE INTERVAL =) TI12.13

YOUR ¥ POPULATION OF 1907 ELEMENTYS HAS & MEAN OF
oF 464.343 AND STANDRARD DEVIATION

THE PATH RANGE IS FROM .00 TO

% OTHER YMPORTANT STATSH xsxn _
MEDIANCHID PT) =) $1.50 HODE =
DISPERSION =) 0.34 GKEMNESS =)

STANDARD ERROR(HMEAN) =) 0. 49"
#% Y%K CONFIDENCE INTERVAL =) 6194

3.10

THRU

OF

1540.00

12%0.00

29.00

FREQ-

1TIR6.12

a21.549

76.00" FREQ="

1.6G9

THRU)

CORRELATION BETWEEN THE TWO FﬁCTORS"XgY Is

DO YOU WAHT ANOTHER RUN OF THE PROGRAM YES OR HO

-

63.87

3

3},.

119,128 A

62,705 A

N.5472-

-

VARTANCE

VAR T ANCE




T

TOTAL SUBPOPULATION HUST BE LESS THAN S000

SAT COMPOSITE VS. AFOQT VERBAL

YOUR X PORPULATION OF 1907 ELEMENTS HAS A MEAN OF  11499.928 A VARIANCE
oF 24287 .383 AND STHNDARD DEVIATION OF 155.845
THE DATA RANGE I8 FROM 376.00 7O 1340.00

k% OTHER IMPORTANT STATS #3ix

MEDIANCHID PT)Y =) 958 .00 HODE =)  4290.00 FREQ- 3
DISPERSION =) O.14 SKEWNESS == 3.0
STANDARD ERROR (MEAN) == d.07

k. P5% CONFIDENCE INTERVAL =) Ti12.13  THRU 1126012

YOUR ¥  Po JLATIOH OF 1907 FELEMENTS HAS 4 MEAN OF 62.009 4 VARIGNCE
oF 26,741 AND STANDARD DPEVIATION OF 22.958
THE DATA RANGE 1§ FROM 15.00  T0O 9%.00

%% OTHER IMPORTANT STATH #xx

MEDLAH(MID PT) =) 57.00  MODE =)  99.00 FRE@- 3 L
DISPERSION =) 0.37 SKEWNESS = 0.65
STANDARD ERROR(MEAN) =) 0.53
X% 957 COMFIDENCE INTERVAL =) 60.98  THRU 63.04
T TCORRELGTION BFTWEEN  THE TWO FACTORS X3Y I8  0.7023
DO YOU WANT ANOTE"  <UN OF THE PROGRAM -YES OR NO .



TOTAL SUBPOPULATION HUST BE LESS THAN 1000

SAT COMPOSITE VS. AFOQT QUANTATIVE

YOUR X POPULATION OF 1907 ELEMENTS HAS
OF 24207 . GED AND GTANDARD DEVIATION OF  9F
16540.00

THE DaATA RaNGE IS FROH 376,00 TO

%% OTHER (HPORTANT STaTH ¥

MERIANCHID PT) =2 uEg. 0O MODE =>
DISPFERSION =) N.14 BKEWYNESS =?
STANDARD FRROR (MENAN) =) 3.07

% 90X CONFIDENCE INTERUAL =3 T1i2.13

YOUR Y POPULATION OF 1207 FELEMENTS HAS A MEAN OF 4690 A VARTANCE
or 465,483 AND BTANDARD DEVIATION OF 21.57%

THE DATA RANGE 15 FROM 10.00  ToO $9.00

%% OTHER IMPORTANT STATE wn%

MEDIAN(HID PT) = - H54,.80 MODE =) 80.00 FREQ- 4
DISPERSION = 0.33 SKEWNESS =) .42
STANDARD ERROR(HMEAN) =) 0.49
xx% 904 CONFIDENCE INTERUAL = 42.72 THRU 609.66

CORRELATION BETWEEN THE TWO FACTORS X3Y 1S D.6604.

DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO

12901.00

3.10

A HMEAN OF

FREQ-

THRU Tiddid

W84S

d

128 VAR Y AGRCE
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TOTAL SURPOFULATION MUST BE LESS THAN 5000

SAT COMPOSITE VS, GPA

YOUR X  POPULATTON OF 190% ELEMENTS HAS A MEAN OF 119,080 A UARLaRCE

or 24304.962 alND STARDARD DEVIATION OF 160200
THE DAThH RANGE 185 FROM 376,00 TO i 0.00

%% OTHER (MPORTANT STATE uxx

MEDLANCHID PT) =) eaE.0u MODE =)  12%0.00 FREQ- 3
DISFERSION =) Oul4d  SKEWNFL S =) a0
STARDARD FRROR (MEAN) =) .67

x% 99Z CONFIRENCE INTERVAL =D 1112.06  THRU 11246.08

YOUR Y POPULATION OF 1905 ELEMNENTS HAS A HEAN OF 2.897 A VARIANCE
oF 0.210 AND STANDARD DEVIATION OF 0. 408
THE DATAH RANGE I8 FRONM 1.80  T0O 4.00

*% QTHER IMPORTANT STATH %%

MEDIANCHID PT) =) 2.90 MODE = 3.00 FREQ- 2
DISPERSION = 0.16 SBKEWNESS = -0.02
STANDARD ERROR (MEAN) =) 0.0
% 957 CONFIRENCE INTERUAL = 2.88 THRU 2.92
CORRELATION BETWEEN THE TWO FACTORS X:Y IS n.2372 -
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO -
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YOTAL SUBPOPULATION MUST BE LESS THAN S000

ACT VS, SAT EQUIVALENT
YOUR X POPULATION OF 1240 ELEHMENTS HGS A NEAN OF 25,620 A VARIANCE
OF 13.572 AND STANDARD DEVIATION OF 3.684
THE DATA RANGE IS FROM $.00 TO 84.00
*¥ OTHER IHPORTANT STATE sikx -

MEDIANCHID PT) =) 29,50 WODE =) 29.00 FRE@- 3
DISFERSION =) 0u14  SKEWNESS =) 3.26
STANDARD ERROR (HEAN) =) 0.0
k% 95% CONFIDENCE INTERVAL =) 2%.42  THRU 2% . B

YOUR Y POPULATION OF 1240 FLEMENTS HA8 A MEAN OF  1123.352 A VARIAGHCE
OF RR494.00% AND S1aNDARD DEVIATION OF  153.278
THE DATA RONGE 18 FROM 567.00  TO 1555.,00
x% OTHER IMPORTANT STATS %xx
MEDIANCHID PT) =)  40&1.00 MO0 =)  4090.00 FREQ- 3
DISPERSION =) 0.14 SKEWNESS =) 1,42 .
STANDARD ERROR(MEAN) =) 4.35
% 95% CONFIDENCE INTERVAL =) TiR4.82  THRU |41,ﬁ8
CORRELATION BETWEEN THE TWQ FACTORS X3:Y I8  0.9R70 -
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO -
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TOTAL SURPOPILATION HMUST BE LESS THAN 5000
ACT VS, AFOQT ACADEMIC ABILITY
YOUR X POPULATION OF 1240 ELEMENTS HAS A MEAN OF 25.620 6 VARLANGE
oF 183,572 aND STANDAGRD DEVIATLON OF B.684
THE DATA RANGE 15 FROM .00 TO 34.00

%% OTHER TMPORTANT STATH =

MEDTANCGHID PT) =) 21,50 HODE = 2%.00 FREQ- ]
DISFERSION =) Qu14a  GKFW 88 =) 336

STANDARD ERROR (MEAN)Y =) 0.10

%% 0L CONFIDENCE INTVERUAL =) 25,42 THRU 25.83

YOUR Y  POPULATION OF 1240 ELEMENTS HAS A MEAGN OF 60,4086 A VARTANCE
OF 470,571 ANLG STANDARDL DEVIATION OF 21.693
THE DATH RAGNGE I8 FROM 10.00 T 9%.00

¥# OTHER YMPORTANT STATH sxx

MEDIANCHID PT) =) $4.50 HODE =3 ?%.00 FRE@- 3
DISFERSION =) 0.36 SBKEWNESS =) .82

STANDARD ERROR(MEAN) =) D.42
%% UL CONFIDENCE INTERUAL =) 99200 CTHRU &1 .61

CORRELATION BETWEEN THE TWO FACTORS X3y I8 0.8039 -
DO VOU WART ANOTHER RUN OF THE PROGRAM YES OR NO i

=



¥
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A
TOTAL SUBPORULATION oUST BE LESE THAN 5000
ACT VS, AFOQT PILOT
YOUR X POPULATION OF 1R40 ELEMENTS HAS A MEAN OF 25,420 4 VARTANGE
OF 13,572 AND STANDARD DEVIATION OF 3. 684
THE DOTA RANGE (8 FROM 9.00 10 34,00
#3 OTHER ITMPORTANT STATH xux
MEDIANCHID PT) =) 29,50 MODE =) 29,00 FRE&- 3
DISPERSION =) 0,14 SFITWNESS =) 3.5
1 STANDARD ERROR (HEAN) =) .10
*# 95% CONFIDENCE INTERVAL =) 25,41 THRU 2%. 89
YOUR Y POPULATION OF 1240 ELENENTS HAS A HEAN OF  60.836 & VARTANCE
OF 436,544 AHND STANDAGRD DEUTATION OF  R0.894
THE DATA RANGE T8 FROM 6,00 YO 99,00
%% OTHER IMPORTANT STATSH xux
‘ MEDIANCHID PT) =) 52.50  MODE =) 67.00 FREG@- 2
DISPERSION =) 0.84 SKEWNESS = 1.20
STANDARD ERROR (HEAN) =) .59
** 95 CONFIDENGE INTERVAL = 59,67, THRU 62.00
CORRELATION RETWEEN THE TWO FACTORS X3Y IS 04156
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO '
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1 TOTAL SURPOPULATION MUST BE LESS THAN S000
ACT VS, AFOQT NAVIGATOR
; YOUR ¥  POPULATION OF 1240 ELEMENTS HAR & MEAN OF 2894620 & VARTANGE
oF 13.572 AND STANDARD DEVIATION OF 3.684
THE DATA RARNGE 185 FROWM .00 TO 34.00
#3% OTHER IMPORTANT STaTH #ix
MERTARHTD PT)Y =) 21 .50 MODE =2 29,00  FREQ- 3
DISFERSION =) Q.16 CHHESS =) J.36
STARDARD ERROR (MEAN) =) .10
x% QUY CONFIPRENCE INTERVAL = 25 .42 THRU 245 .83
YOUR Y PORULATION OF 1240 FELEMENTS HAS A MEAN OF $3.008 & VARLANCE
QF 446,980 ARD STARDARD DEVTATION OF a1 .14
THE DATA RANGE T% FROM 8.00 TO .00
®*% OTHER THPORVANT STATH wix
MEDIAN(MID PT) =) 53.50 MODE =) 20.00 FREQ- 2
DISPERSION =2 0.34 SKEWNEBS =) 1239
STANDARD ERRORCHEAN) =) .60
x4 Q9% COMFIDENCE INTERUAL => 61.83  THRU &ﬁ.jB
CORRELATION BETWEEN  THE TWO FAUTORS XiY k8 0.59660- ’
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO

- ————
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TOTAL SUBPOPULATTON HUBT RE LESS THAN =000

ACT VS. AFOQT QUANTATIVE -
YOUR X POPULATION OF 1840 FELEHENTS HAS 6 MEAN OF 25,620 A VARTARGE
or 13.5772 AND STANDARD DEVIATION OF 3.6B4
THE DATA RANGE 185 FROM Q.00 TO 34,00
%% OTHER IHMPORTANT STATS

MEDLANCHID FT) =) 291 .50 MODE =) 29.00 FREQ- 3
DISFERSTON =) 0.4 SKEWNESS = 3.34
YOUR Y  POPULATION OF 1240 ELEMENTS HAS a MEAN OF 2 LEG4 0 VARTARCE
oF 464,000 AND STHRNDARD DEVIATION OF 2 L4
THE DATH RANGE T8 FROM 10.00 10 go .00

it OTHER LHPORTART STATE wux

MEDRDTANGILD PTY =) V4 G0 MOLE =3 89.00 FREQ- 3
DISFERSION =) 0.34 GRKEWNESS =) Tald v
STAMNDARD ERROR(HMEAN) =3 0uéi

®*%k QUL CONFIDRENCE INTERVAL =) &1.48  THRU 63.88

CORRELATION BRETWEEN THE TWO FACTORS X:Y IS 0.6826
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO



g

TOTAL SUBPOPULATION MUST BE LESS THAN G000

ACT Vs, GPA

®¥# OTHER THPORTANT STATS wwxx

MEDLANCGIID PT)Y =) 271,80 MODE =) 29,00 FREQ- 3
DISPERSION =) .14 SKEWNESS =) 3.34

YOUR Y  POPULATION OF 1240 ELEMENTS HAS A MEAN OF 2.924
o 0D.218 AHD STANDARD DEVIATION OF ) Y-

THE DaTA RANGE I8 FROH 2.00 TO 4.00 :

% OTHER [MPORTANT STATSH eex

MEDLANCMID PTY =) 3.00 MODE =3 2,646 FREQ- 2

DISPERSTON =3 .16 BREWNIEGES =) ~(a 49

STANDARD ERROR(HEAN) =) D.O1

#% UL CONFIDENCE INTERUAL =) 2.90  THRU 2,93
CORRELATION BETWEEN THE TWO FACTORS X:Y IS A.2498

DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO

1

‘ .

1

YOUR X POPULLATION OF 240 ELEMENTS HAS A MEAN OF RQU.&20 A
oF 1308572 anb STANDARD DEVIATION OF . 684

THE DATA RARGE T8 FROM Q.00 To 34.00

3]

VAR T AHCE

VAR T AHCE




TOTAL

ACT VS. AFOQT VERBAL

TOUR Y POPULATION
OF 5000140
THE DATA RANGE

OF

I8 FROWM

% OTHER IMPORTANT STATS
MERIAHCHMID PT)
DISFERSION =)

0.39

STANDARD ERROR(MEAN) =)

CORRELATION BETWEEN

1240

ARD STANDARD DEVIATION

u7.00

% POZL CONFIDENCE INTERVAL =)

DO YOU WANT ANOTHER RUN OF THE PROGRAMN

SUBPOPULATION MUST BE LESS THAN H000

YOUR X POPULATION OF 1240 ELEMEHTS HAS A HEAN OF 25,620 A VARTANCE
oF 13.972 AND STAHDORD DEVIATION OF 3. 684
THE DATA RANGE IE FROM .00 70O 34.00
#% OTHER IMPORTAMNT STATHE wxx%
MEDRDIANCATD PTH =) 21,50 MORE =) 2%. 00 FREQ- 3
DISPEREION =) Dota SKEMNESE =) 2.34

ELEMENTS HAS a4 MEAN OF
OF AL 364

4. 00

U7.4056 A VAR TANCE

15.00 10

I3
MODE =) 53.00 FREQ- 3
SKEUNESS =) 0.06
0. b4 )
56.21  THRU 56.70
THE THO FACTORS X:Y IS  0.6814
YES OR NO



TOTAL SUBPOPULATION MUST BE LLESS THAN S000

SAT EQUIVALENT VS. AFOQT ACADEMIC ABILITY

YOUR X POPULATION OF 3572 ELEMENTS HAS A MEAN OF 1095.724 A VARTANCE

oF 24418.008 AND STANDARD DEVIATION OF 161 61
THE DATA RANGE I8 FROM 967,00 TO 1655 .00

%% OTHER IMPORTANT STATSH wxx

MEDIANCMID PT)Y = 1067 .00 MODE =>  1290.00  FREG- 3
DISFERSION =) 015 SKEWUNESS =) N.b4
! STANDARD ERROR (HEARD) =) 2,70

#% 957 CONFIRENCE INTERVAGL =) « T 42 THRU 1101 .02

YOUR ¥ POPULATION OF 8572 ELEMENTS HAS A HMEAGN OF G9.728 6 VORIANCE
or 498.025 AHD STANDARD DEVIATION OF 22,316
THE DBATA RANGE IS5 FROM 10.00 TO fe.00
# ® OTHER THPORTANT STATH wxx _
MRDIARMID PTY =) 54 .50 MObE =) 5.0 FREQ- 3
DISFERSION =) 0.37 SKEWNESS =) 0.70
1_ STANDARD ERROR(HMEARN) =) .37

*¥ OHL CONFIDENCE INTERVAL =3 59.00  THRU 60, 46

CORRELATION BETWEEN THE TWQ FACTORG X5V T8 0.8308
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO

o

_Jé‘——



TOTAL SURPOPULATION MUST BE LESS THAN H000

SAT EQUIVALENT VS, AFOQT PILOT

YOUR X POPULATION OF 3572 ELEMENTS HAS A MEAN OF 1095.724 A VARIANCE
oF 26118.008 AHD STANDARD DEVIATION OF 161611
THE DATAH RANGE XIS FROM B67.00 TO 1555, 00

%% OTHER IMPORTANT STATS %%

MEDIANCMID PTY =) 106100 HODE => 290,00 FREG- 3
DISFERSION =) 0.15 GKEWMNIESS = N.64
STANDARD ERROR (MEAN) =) 2.70

®% QUL CONFIDENCE INTERVAL =) HF0. 42 THRU 110108

YOUR ¥  PORPULATION OF 38572 ELEFENTS HAS a MEAN OF S8.767 6 VARIANCE
OF 465,104 AND STANDARD DEVIATION OF 21.564
THE DATA RANGE TE FROM 2.00 TO ¢9.00

% OTHER IMFORTANT STATSH ke

MEDIANCMID PTY =) a0.50 MODE =2 67.00 FREQ- 2 .
DISPERSION =) 0.37 SKEWNESS =) 115
STANDARD ERROR(MEAN) = 0.36
*3* 90X CONFIDENCE INTERVAL =) LGH.06  THRU N9, 47

CORRELATION BETWEEN THE TWO FACTORS X:Y I8 0.46416 -
DO YOU WaANT ANOTHER RUN OF THE PROGRAM YES OR NO -

-



e

TOTaAL SUBPOPULATION MUST BE ILESS THAN H000

SAT EQUIVALENT VS. AFOQT NAVIGATOR

YOUR X POPULATION OF 39572 ELEMENTS HAS A MEAN OF 10%95.724 & VARITANCE

OoF 26118008 AND STANDARD DEVIATION OF Té&1. 611
THE DATA RANGE X8 FROM $67.00 70 1565500

X OTHER THPORTANT STATE wxx

MEDITANCAID PT)Y =) T0&E1 . 00 HODE =3 129000 FREE- 3
DISFERSION =) 0.8 SLEWNESS =) .64
STANDARD ERROR (MEAN) =) 2.70

x 90X COHFINDENCE INTERVAL =) 109042 THRU T 02

YOUR Y POPULATION OF 3872 ELEMENTS HAR 6 MEAH OF 60,442 A VARILAMCE
OF 465,701 AND STANDARD DEVIATION OF £2.043
THE DATAG RANGE I8 FROM 4.00 TO 2%.00

3% OTHER IMPORTANT STATSH

HEDIANCHID PT) = 51.50 MODE =) 76.00 FREQ- 3
DISFERSION =3 0.36 SKEUNESS => 1.22

CORRELAYION BETWEEN THE TWO FACTOREG X3Y I8 0.5768
DO YOU WANT ANOTHER RUN OF THE PROGRAM  YES OR NO



TOTAL BUBPOPULATION MUST BE LESS THAN 5000

SAT EQUIVALENT VS. AFOQT VERBAL

YOUR X POFULATION OF 3572 ELEMENTS HAS A& MEAN OF 1095.724 A VARIAGNCE

oF 26118.008 AND STANDARD DEVIATION OF 167, 614
THE DATA RANGE I8 FROM 967,00 TO 1555.00

%% OTHER IMPORTANT STATS «ox

HEDEANMID PTY =) 104000 MODE =3  1290.00 FREG- 3
DISFERSION =) Q1% SKEWHESS =) 0.64
STANDARD ERROR(MEAN) =) 2.0

% 90E CONFIDENGE INTERVAL = 1090, 42  THRU 1101 .02

YOUR Y  PORULATION OF 3572 ELEHENTS HAS A MEAN OF S8L30 A VAR AKCE

OF H2B.440 AND STANDARD DEVIATLON OF 22.%488
THE DATA RANGE IS FROM FE.00 70 79.00

%% OTHER IMPORTANT STATS *#x

) MEDIANCHID PT)Y =) 37 .00 MODE =) ¢9.00 FREQ- 3 - -
DISPERSION = 0.3%  SKEWNESE =)> 0.17
STANDARD FERROR (MEAN) = 0.38
% OHZ CONFIDENCE INTERVAL =) - 97 .96 THRU %2.04

CORRELATION BETWEEM THE TWO FAGTORS X3Y IS 0.7056 7
DO YOU WANT ANOTHER RUMN OF THE PROGRAM YES OR NO




i 84

TOTAL SUBPOPULATION MUST BE LESS THAN 5000

SAT EQUIVALENT VS. AFOQT QUANTATIVE

YOUR X POPULATION OF 3%72 ELEMENTS HAS A MEAN OF  1URH.7E4 a VARTARCE
OF 26118.008 AND STANDARD DEVIATION OF 161,611
THE DATA RANGE 18 FRONM D6F.00 0 TO 1555.00

#% OTHER THMPORTANT STAHTE wxex

MEDLAKCHID PT)Y = G100 MODRE =) 1R90.00 FREG@~ 3
DISPERSION =3 G.16  SKEWNESS =) V.64
STANDARD ERROR (MEAN) =) .70

4 QUL COMFIDENTE INTERVAL = TAY0. 42 THRU R U I U

YOUR ¥  POPULATION OF 3%72 ELEMENTS HAS & MEAM OF 60L1H A VARIANCE
oF G06.687 ANHD STANDARD DEVIATION OF 22,570 :
THE DATA RARGE 18 FROM 10.00 70 29.00

*¥% OTHER I(MPORTANT STATS xxx

MEDIANCHID PT) =) H4.50 HODE =) B0.0O0 FREQ- 4
DISPERSION =) 0.37 SKEWNESS = 0.80

STANDARD FERROR(HMEAM) = 0.328

k% QUKL COMFIDENCE INTERVAL =2 H¢9.78  THRY &l 29

CORRELATION BETWEEN THE TWO FACTORS X3Y IS 0.7089
DO YOU WANT AMOTHER RUN OF THE PROGRAM YES OR NO

- I3
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TOTAL SUBPOPULATION MUST BE LESS THAN 5000

SAT EQUIVALENT VS. GPA

YOUR X POPULATION OF 3570 ELEMNENTS HAS A MEAN OF  1095.680 A VARTANGE

OF REIRG.. 798 AND STANDARD DEUVIATION OF 161,638

THE DATA RANGE Y8 FROM G600 TO 15%5.00

%3 OTHER THPORTANT STATH wwxx

MEDRIANCHID PT) =) 1061, 00 MODE =) 4290.00 FRE@- K|
DISPERSION =) 0.0 SKEWNESS => N.é4
!
STANDARD ERROR (HEEANY =) 2.71
®% 904 CONFIDENCE [HTERVAL = 10

$0.38 THRU 1i00.99

YOUR Y POPULATION OF 3570 ELEMENTES HAS A MEAN OF 2.884 A VARTAKNCE
OoF 0.219 AND STARDARD DEVIATION OF Q. 464
. THE DATA RANGE IS5 FROM 1.80 TOQ 4.00

o

## OTHER (MPORTANT STATEH %

MEDIAN(NID PT) =) 2.90  MODE =) 3.00 FRE@~ 2 - -
DISFERSION = 0.16 SKEWNESS =) ~0.10
STANDARD ERROR (MEAN) =) 0.04

? X% 957 CONFIDEHCE [(HTERVAL =) 2.87  THRU 2.90

h CORRELATION BETWEEN THE THO FACTORS X3V I8  0D.2354-
DO VOU WANT ANOTHER RUN OF THE PROGRAH YES OR NO




TOTAL SUBFOPULATION MUST BE LESS THAN H00Q

AFOQT AA VS, AFOQT PILOT

YOUR X  POPULATION OF  3%7% ELEMENTS HAS A MEAN OF

oF 498,102 AHD STANDARD DEVIATION OF AR.A18

THE DATA RANGE IS FROM 10000 TO

x% OTHER THPORTANT STATS waex
MEDIANCHMID PT) =) S4.50 HODE =)
DISFERSION =) 0.357 SKFUNESS =)

STANDARD ERRQR(MEAN) =) .37

x% QUL CONFIDENCE INTERVAGL =) IR AN

Vx

YOUR ¥ POPULATION QF 3075 ELEMENTS HAS & MEAN OF

?9.00

9%.00 FREQ- 3
.70
THRE 601,45

oF 465,292 AND STANDARD DEVIATION OF 21,071
THE DATA RANGE IS FROM 2.00 TO $9.00

*# OTHER IMPORTANT STATEH xix
HEDIANCHID PT)Y =) S0.50 MODE =)
DISPERSION => 0.37 SKEWNESS =)

STANDARD ERROR (MEAN) =) 0.36
%% 5% CONFIRENCE INTERWAL =2 o806

CORRELATION BETWEEN THR THO FACTORE

DO YOU WART ANOTHER RUN OF THE PROGRAM

5 Xsy I8

&7.00 FREQ- 2
1.19

THRU 59,47

H¢.722 A UARTANCE

S8.763 A VARTANCE

0.5318.
YES OR NO
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TOTAL SUBPOPULATION MUST BE LESS THAN [000
AFQOT AA VS, AFOQT NAVIGATOR
YOUR X POPULATION OF 3874 ELEMENTS HAS A MEAN OF G9.7322 A VARTIANCE
OF 428,102 AND STANDGRD DEVIATION OF 22,318
THE DATA RANGE 18 FROM 10.00 TO $9.00

¥3% OTHER IMPORTANT STATS xiex

MEDIANCMID PT) =3 RE NN HODE = *H.00 0 FRE@- 3
BISPERSION = .37 SKEMNESS =) 0.70

STANDARD ERROR (MEANY =2 0.a7

¥ 95 CONFIDENCE INTERVAL =) DB.YY THRU 6045
YOUR ¥ POPULATION OF 3470 ELEMENTS HAS & MEAN OF 60.434 A VARTANLUE
oF 486.088 AND STANDARD DEVIATION OF 22.047

THE DGTA RANGE 18 FROM 4.0 70 2¢.00
#3 QOTHRER IMPORTAONT STATS wuxx

MEDIANCHID PTY =) U1.50 MODE = 76.00 FREQ- 3
DISPERSION =) 0.8&6 SKEWNESS =) 1.22

L]

STANDARD ERROR (MEAMNY =) 0.37
% 95X CONFIDENCE IMNTERVAL =) 59.71  THRU 61.16

CORRELATION BETWEEN THE TWO FACTORS X&Y 18 (1.6847 .
DO YOU WANT ANOTHER wUM OF THE PROGRAM  YES OR NO
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TOTAL SUBPOPULATION MUST BE LESS THAN 000
AFOQT AA VS. AFOQT VIRBAL

YOUR X POPULATION OF 357% ELENENTS HAS & MEaAN OF 9,722 A VARLANGE
OF 498,102 AND STANDARD DEVIATION OF IR
THE DATA RANGE (8 FRON 10,00 1O 94,00
*3# OTHER INPORTANT STATS w#sx

MEDIANCGHID PT) =) 54,50 MobE =) 2%, 00 FREG- c}
DISFERSTON =) 0.37 SKEWNESS =) 0.70

STANDARD ERROR(MEAN) =) 0.37

%% 957 CONFIDENCE ITNTERVAL =) 58,99 THRU 60,45

YOUR Y POPULATION OF 3575 ELEMENTS HAS & MEAN OF H8.30% A VARTANCE
OF GRBLABY AHD STARDARD DEVIATION OF 22,989

THE DATA RANGE 18 FROM 15,00 TO %49, 00

%% OTHER IMPORTANT STATS s

MEDIAN(MID PTY =) 97 .00 MODE =) %¢.00 FREG- 3
DISPERSION =) 0.3% SKEUNESS =) 0.17 .-
STANDARD ERROR(MEAN) =) 0.38

X% 954 CONFIDENCE INTERVaAL =) 7.6  THRU 99,04

CORRELATION BETWEEN THE TWO FACTORS X:Y I8 0.8641
DO YOU WANT ANOTHER RUN OF THE PROGRAM  YES OR NO .

-



<

TOTAL SUBPOPULATION MUST BE LESS THAN %000

AFOQT AA VS. AFOQT QUANTATIVE

YOUR X POPULATION OF 357% ELENENTS HAS A MEAN OF 59.722 A VARTANCE
oF AS8..108 AND STANDARD DEVIATION OF 22,318
THE DATA RANGE 18 FROM 10.00 Y0 #9.00

%% OTHER THPORVANT STATH wwx

MEDLANCHID PT) =) Yoa, GU HORE =2 ¢h.00  FRE@~ ]
DISFERSION =) 0,47 SKEUMESS =) 0.70

STANNARD ERROR(MEAN) =3 0.3 ’

x% PRE CONFIRENCE INTERUAL =) SH.%%  THRU o A0LAT

YOUR Y POPULATION OF 38785 ELEMENTS HAS A MEAN OF &0.503 & VAR GNCE

oF B06. 620 AND STANDARD DEVIATION OF 22,0508
THE DATA RANGE IS FROM 10,00 70 ¢9. 00
e [N T

x% OTHER (HPORTANT STATE it

MEDIANCHID PT) =) G450 HODE =) B0.00  FRE@- 4
DISPERGION =2 0.37 BKEUNESE = 0.80
Srnitd s TRESE voindes 5 0.30
STANDARD ERROK (MEAN) =3 0.38
wk OUL CONFIDENCE INTERVAL =D WeL.77  THRU 6,24

CORRELATION BETWEEN  THE TWO FALTORSY X!YVIS {1.B274
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO
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TOTAL SUBPOPULATION MUST RE LESS THAN $000
AFOQT AA VS. GPA

YOUR X POPULATION OF 3573 ELEMENTS HAS A MEAN OF 59,718 A& VARTANCE
oF 498,110 AND STANDARD DEVIATION OF 22,58
THE DATA RANGE (8 FROM 10,00 TO 99 .00
%1 OTHER IMPORTANT STOTS wwx

MEDTANCHID PT) =) 54,50 MODE =) 9%.00 FREQ- 3
DISPERSION =) .27  SFEUNESS =) 0.70
STANDARD ERROR (MEAH) =) 0.97 .
%k 9O CONFIDENCE INTEKVAL =) 56.99  THRU &0 4%
YOUR ¥ POPULATION OF 3573 FLEHFNTS HAS & MEAN OF 2,864 6 VARTANCE
oF 0.21% AND STANDARD DEVIATLON OF 0. 464
THE DATA RANGE 18 FROM .80 TO 4.00

¥# OTHER IMPORTANT STATH #xx

MEDLAN(MID PT) = 2.90 MODE = 3.00 FRE@- 2 -
DISPERSION =) 116 SKEBNESS =) ~0.10

STANDARD ERROR(MEAN) =) 0.1
% QUYL CONFIDENCE INTERVAL = 287  THRU 2.90

CORRELATTON BETWEEN THE TWO FALTORS XY IS 0.208% .
DO YOU WetT ANOTHER RUN OF THE PROGRAM  YES OR NO -
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TOTAL SUBPOPULATION MUST BE LESS THAN 5000
* AFOQT PILOT VS. AFOQT NAVIGATOR ?

JOUR X POPULATION OF 3575  ELEHENTS HAS & WEGN OF  S8.74% A VAR LANGE
oF 465,292 AND STANDARD DEVIATION OF 91,571

THE DATA RGKBE 1§ FROM 2.00  T0 9. 00
%% OTHER IMPORTAONT STATS s

HEDIANCHID PT) =) S0.50  MODE =) 67.00 FRE@- 2
DISPERSION =) 0.87  SKEWNESS =) 1415
STANDARD ERROR (MEAN) =) 0. 36
%% ONL CONFIDENCE INTERVAL =5 58.06 - THRIU 59,47
YOUR Y POPILATION OF 3575 ELEMENTS HAS A HEAN OF  &0. 454 A VARIANCE
OF 486,088 aND STANDARD DEVIATION OF  22.047
THE DATA RANGE IS FROM 4.00 10 99.00
%% OTHER SMPORTONT STATS #oex

MEDIAMCMID PT) =) S1.50  MODE =) 76.00 FREQ- 3 -
DISPERSION =) 0.36 SKEWNESS =) 1.22
STAHDARD ERROR(MEAN) => 0.37
*% 95% CONFIDENCS INTERVAL =) 59.71  THRU 61.16

T e———
CORRELATION BETUEEN  THE Tuwo FaCTORS .Xt\' 18 h.e00s

DO YOU WANT ANOTHER RUN of Ty PROGRAN  YES OR NO
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TOTAL SURPOPULATION MUST BE LESS THAR 5000

AFOQT PILOT VS. AFOQT VERBAL

YOUR X PORPULATION OF 3575 ELENENTS HAS & MEGN OF 58.763 h VARLANGE
or 465,292 ARD STANDARD DEVIATION OF 29,5721
THE DATA RANGE I8 FROM 2.00 710 $9.00

*¥% OTHER THPORTANT STATS xx

MEDTANCHID PT) =) H0LH0 MODE =) 67.00 FREe~ 2

DISPERSION =) 0.37 SKEWNESS = 1,418 o

STANDARD ERRORCMEAN) =) 0.36 i

*% 957 CONFIDENCE INTERVAL =) G8.0&6  THRU HN9.47

YOUR Y POPULATION OF 3575 ELEMENTS HAS & MEAN OF H8.309 4 VARIANCE
oF DB 487 AND STANDARD DEVIATION OF 22.989

THE DATA RAMGE IS FROM G000 TO 29.00

x5t OTHER IMPORTANT STA?S #9tx

MEDIANCMID PT) =) 57.00  MODE =) 99.00 FREQ- 3 -
DISPERSION =) 0,89 GKEWNESS =) 0.17

STANDARD ERROR (MEAN) =) 0.38

%% 95% CONFIDENCE INTERVAL =) 57.5%6 THRU 59.06

CORRELATION BETHFEN THE TWO FACTORS X;Y IS 0,345
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO '
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TOTAL SURPOPULATION MUST BE LESS THAN 5000

AFOQT PILOT VS, AFOQT QUANTATIVE

YOUR X POPULATION OF 3575 ELEMENTS HAS A MEAN OF 98.763 A VARIANCE
oF 465.292 AHD STANDARD DEVIATION OF 21,571
THE DATA RANGE IS FROM 2.00 TO 2%.00

x# OTHER THPORTART STATS w#xx
HERIANMMID PT) =2 S50 MOLE =2 67 .00 FREG- 2

DISFERSION =) o 0,387 SKEWNESS =) 1.19
STANDARD ERROK(HMEANY =) 1.264
x# QUL CONFIDERCE INVERVAL =) P8.0¢% THRU N9.47
YOUR ¥ POPULATION OF 3475 ELEMENTS HAS & MEAN OF 40,503 A VARTANCE
or 006,623 AND STAHNDARD DEVIATION OF 22.508
_ THE DATA RANGE IS5 FROM 10.00 TO 99.00

#% OTHER IMPORTANT STATH xxx

MEDIANCMIN PT) = 54,50 HODE =) 80.00  FREQ- 4 -
DISPERSION => 0,37 SKEWNESE =) .80
STANDARD ERROR(MEAM) =) .38

®* PHL GCONFTIDENCE INTERVAL =5 59.77  THRU 61.24

CORRELATION BETHEEN THE TWO FACTORS XY I8 057368
DO YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO )

=
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TOTAL SUBPOPULATION MUST BE LESS THAN $000

 AFOQT PILOT VS, GPA
YOUR X POPULATION OF 3573 ELEMENTS HAS A MEAN OF 58.777 A VARITIANCE
oF 444,959 GHD STANDARD DEVIATION OF 21,563
THE DATA RANGE IS FROM 2,00 T0 %%, 00
x% OTHER IHPORTANT STATS xx

MEDIAN(MID PT) = 50,50  MODE =) 67.00 FREG- 2
DISPERSTON =) 0.97 GKEWNESS =) 1.15
YOUR Y POPULATION OF 2573 ELEMENTS HAB A MEAN OF 2.884 6 VARTANCE
OF 0.215 AND STANDARD DEMTATION OF 0. 464
THE DATA RAMGE IS5 FROM 1.80  TO 4.00
%% OTHER IMPORTANT STATH %k

MEDIAN(MID PT) =) 2.90 MODE = 3.00 FREQ- 2.
DISFERSION =) 0.16 SKEWHESS =) ~0.10
STANDARD ERROR (MEAN)Y =) 0. 04 -

*3% UL CONFIDENCE INTERvaAL =) 2.87 THRU

CORRELATION BETWEEN THE TWO FACTORS XpY IS 0.0814
DO YOU WANT ANOTHER RUN OF THE PROGRAM YESG OR NO

2.70
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TOTAL SUBPOPULATION MUST BE LESS THAH S000
AFOQT NAVIGATOR VS, AFOQT VERBAL

YOUR X POPULATION OF 23575 FLEMERNTS HAS A MEAN OF 0. 434 A VARTANGE
or 486,008 AND STANDARD DEVIATION OF 22,047

THE DGTA RANGE 18 FROM 4.00  TO 9%.00

%% OTHER IMPORTANT STATS a3

KEDIANCHID PT) =) 54 .50 MODE =) 76.00 FREQ-- 3
DISFERSION = 0.36 SKEWNESS =) 1.22

YOUR Y POPULATION OF @575 FLEMENTS HAE A MEaM OF S8.50%9 A4 VARIANCE
or HABLABY AND STANDARD DEVIATION OF 22.989

THE DATAH RANGE IS FROM 15,00 TO %%, 00

%% OTHER IMPORTANT 8TAGTS %

MEDTAH(HID PT) =) 57.00 HODE = 99.00 FRE§- 3
DISFERSION =) 0.39 GKEWNESS =) Q.17

STANDARD ERROR(MEAN) =% 0.38 e
®% 95X CONFIDENCE INTERVAL =) 57.56  THRY 59.06

CORRELATION BETWEEN THE THO FACTORS X3Y IS (3.389‘1
DO YOU WANT ANOTHER RUN OF THE PROGRAM YFE& OR NO
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TOTAL SUBPOPULATION HUST BE LESS THaN 5000
AFOQT NAVIGATOR VS. AFOQT QUANTATIVE

YOUR X POPULATION OF 2575 ELEMENTS HAS A ME4N OF 60.434 A VARLANCE
OF 4R6.088 AND STANDARD DEVIATION OF 22,047

THE DATA RANBE 1S FROM 4.00  To 99,00

%% OTHER IMPORTANT STATS s

MEDIARGIID PT) =) CB1LEOD WODE => 76.00 FREQ- 3
DISFERSION =) 0.36 SKEUNESS =) T.n2

STANDARD ERROR (HEAN) =) 0. 37

x% 95X COMFIDENCE (NTERVAL =) 50,71 THRU 41,16

YOUR ¥ POPULATION OF 3575 ELEMENTS HAS & MEAM OF 60.503 6 VAR IANCE
OF 506.623 AND STANDAGRD DEVIATTION OF 22, 508

THE DATA RANGE 18 FROM 10,00 T0 99,00

%% OTHER TMPORTANT STATS #xx

MEDIANCMID PT) =) 54.50  MODE = 80.00 FREQ- 4

DISPERSION = D.37 SKEWHESS =) 0.80

STANDARD ERROR(MEAN) => 17 qoag v v 70 be elond

%% 95% CONFIDENCE INTERVAL =) 59.77  THRU 61.24

CORRELATION BETWEEN THE TWO FACTORS Xi+Yy I8 Q.6038

DO YOU WART AHOTHER RUN OF THE PROGRAM  YES OR 10

e ——— e ———



TOIAL SURPOIULATION HUST BL LEYS THAN 3000

AFOQT NAVIGATOR VS. GPA

YOUR X POPULATION OF 3573 ELEMENTS HAS A HMEAN OF
OF 485,710 AHD STARDARD DEVIATION OF 22.039
THE DATA RARGE 1S FROM 4.00 Y0 29.00

*3 OTHER IMPORTANT STATS ek
MEDIARNCMID PT) = 1. 50 MODE =) 76.00 FREG-
DISPERSIOMN =) 0.36  SKEWNESS =) TuR2

YOUR Y POPUILATION OF 3573 ELEHMENTS HAS a MEAN OF

or 0295 AND STANDARD DEVIATLION OF 0,464
THE DATEH RANGE L8 FROM .80 YO 4.00

®3# OTHER IMPORTANT STATH ux%

MEDIANGMID PTY =) .70 MODE =2 3.00 FREg@~
DISPERSION = 016 SKEWNESS = =0.10
STANDARD ERROR (MEAN) =3 0.0

xx Y% CONFIDENCE INTEf - . =

2.87 THRU 2.9

’
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60,444 A VORTANCE

2.884

0

CORRELATION BRETWEEN THE TWO FACTORS X:Y 16 0.1301

DO YOU WAHT ANOTHER RUN OF THE PROGRAM YES OR NO

A

VAR TANCE
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CTOTAL SUBPOPULATIONR MUST HE LESE THAN HOUQ ' ’

75
ATOQT VERBAL VS. AFOQT QUANTATIVE

YOUR X POPULATION OF 3975 ELEHENTS HAS A MEAN OF DE.30% A VARTANLE
oF SRG. AT AND STANDARD DEVIATION OF 2. 989
THE DATA RAHGE T8 FROM 15,00 70 9% .00

%% OTHER TMPORTANT STATH %unx
MEDLARCMID PT) =) 57,00 NMODE =) 99.00  FREQ- 3
DISPERSION =) 0,39  SKEUMESS =) 0.17

YOUR Y  POPULATION QF 2475 ELEMENTS Hat A WEAN OF A0.B08 A VARTANCE
oF S6.623 AND BTANDARD DEVIATION OF 22,508
THE DATA RAGNGE I8 FROM 10,00 TO §¢ .00

#3 OTHER LHPORTANT BTRTE fw
MEDTANCHID PTY =3 G400 MODEE =3 g0.00  FREQ- 4
DIGPERGTION =2 0.37  SKEWNESS =5 .80

STANDARD ERROR (MESHDY =3 0.38
x4 CONFIRERTCE THTERVAL =) U9 Y THRU &1 24

CORRELATION BETHEEN THE TWO FACTORS X3Y I8 0. 4400
DO YOU WANT ANOTHER KUN OF THE PROGRAM  YES OR NO
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TOTAL SURPOFULATION MUST BE LEGS THAN 3000
AFOQT VERBAL VS. GPA

YOUR X POPULATION OF 3%73 ELEHENTS HAS A MEAN OF 58.300 A UARTANCE
oF 528.463 AND STANDARD DEVIATION OF 22.968

THE DATA RANGE 1S FROM 15,00 TO $9.00

x% OTHER (MPORTANT STATH wwx

MEDIANCHTR PT) =) 57,00 WODE =) 99.00 FREQ- 3
DISFERSTON =) 0,39 SKEUNESS ) 0.17
YOUR Y POPULATION OF 2572 ELEMENTS HAS A MEAN OF 2.8684 A VARTANCE
OF 00215 AND STARDAKD DEUVIATLON OF 0. 44
THE DATG RANGE (8 FROM T80 Te 4,00

®*% OTHER ITMPORTANT STATEH wix

MEDTANGRID #TY = 2.90 PODE = 3,00 FREQ- e
DISPERSION =7 0016 SKEWNESE =) -0

STAMDARD ERROK (HEGN» =3 0.0

=% QLI CONFIDENCE INTERUVAL =3 Q.87 THRU a9

) . -
CORRELATION BETWEEN THE TWQ FARTORS X3V IS Nai762
LQ YOU WANT ANOTHER RUN OF THE PROGRAM YES OR NO
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TOTAL SUBROPULATTON MUST BE LESS THAN B000

AFOQT QUANTATIVE VS. GPA

YOUR X POPULATICN OF 3%73 ELEMENTS HAS & MEAN OF H0VH06 A VaRTaRGE

oF Q6. 685 AaND STAaNDARD DEVIATION OF 22,9510
THE DATA RANGE I8 FROM .00 170 ge. 00

%% QOTHER IMPORTANT STATL xxx

MEDIANHID PTY =D LT MODE =2 80,00 FREG- 4
DISPERSION =) 0.87 BKEWNEGS =) Q.80
YOUR Y  POPULATION OF 3873 LLEMENTS HAS & MEAN OF 2.884 a VAR ITAMNCE
or 0,295 AND BSTANDRARD DEVIATION OF 0,464
THE DATH RAGNGE I8 FROM .80 10 4.Q0

#3 OTHER ITNPORTANT STATEH xwx

MEDRLANCMID PTY =) 2.70 MODE =3 3.00  FrEg§- 2
DISPERSION =) Ou1é SKEWNESE =) =010

STANDARD ERRORC(MEANY =3 0.0
3 9RE CONFIDRDERCE INTERUAL =3 2.87  THRU 2. F0

CORRELATION BETHEEN THE TWO FACTORSG X#Y 18 -0.ﬂ7?6
DO YQU WAHT ANOTHER RUN OF THE PROGRAM YES OR NO



